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= Grey line: exponential fit Peak flux: 2.340+/- 0.461 c/s/cm’ =
E Black line: power law + gauss fit Fluence : 44.72+/- 7.92 clcm? m
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— Duration : 57.09+/- 10.27 s -
= Best fit model: 1. 7
- Best fluence model: 1. =
- | | |Tst duration model: 1. =
= HM W Il “H HM i H M | } N H il HM
i Exponential fit E
—  Expon.time: 18.36+/- 2.88 s (chi’red= 0.78) =
- H | g L T T TA FYR T :
= i M HW+Hﬂ*WW*ﬁ*ﬁH*Hﬁ*+*fﬁHWﬁﬁﬁwﬂmﬁﬂﬂﬂﬁ#ﬁ“WHW%mWHW Wﬂﬁﬂﬁﬂﬁ*ﬂﬂ*ﬂ*ﬁﬁwﬁﬂwﬂﬁwﬁﬁwWWW+ﬁWﬂ*WWH&%
= Power law fit E
~  Power law index:; -1.200+/- 0.186 (chi*-red= 0.79) =
- 1 o T L beb i :
= W&H H WH b Hﬁﬂw Wﬂ {ﬁ%HHﬂ*ﬁﬁHmMﬁﬂwﬁ#ﬁﬂwﬂwmﬂmHﬁﬁﬁmﬂwﬂﬂﬁﬁﬂﬂ Hﬂﬁﬂw W wwﬂ% ﬂﬁﬂﬁ%ﬁ %****ﬂiﬂwﬁﬁ*ﬁﬂj WW #Mﬁ% +wﬂMﬁﬂ{ﬂﬂ%ﬁ
i‘ T T T T T T T T T T T T T T T T T T T T T T i
—  Power law fit plus Gaussian (st.dev.= 22.04+/- 4.92 s, fracgs= 0.58+/- 0.26) =
- Power law index: -1.222+/- 1.044 (chi’-red= 0.78) 3
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